Fie fvison Dala 7 July 2019
CBSE Objective Questions Exam 2018-2020
CLASS  10th
sUB Boience

CHAPTER 16

For 15 vaars Exams Chaplet-wiss Question Bare

‘Management of Natural Resources

1. OBJECTIVE QUESTIONS

1. New approach of conversation is the estahlishment of

(a) Sancturies
(¢) National parks
Ans : (d) Biosphere reserves

(b) Reserve forests
(d) Biosphere reserves

Ganga Action Plan was started in

(a) 1075 (b) 1985
(e) 2004 (d) 1982
Ans & (b) 1985

Ganga Action Plan (GAP) was a programme launched
by Government of Indi in April 1985 i order to
reduce the pollution load on the tiver Ganga

Which of the following statements sbout the

construction of a dam are incorrect”

(a) It provides an coo-friendly envirommnent

(b) It is used to generate electneity

(¢) Tt displaces the largely poor tribals that do not
get any benefit

() It prevents the ocentrence of floods in the river

Ans : (a) Tt provides an eco-friendly environment

The incorrect statement for the comstruction of a dam
15 that it provides eco-friendly environment.

Ground water will not he depleted due to

(a) afforestation

(h) untreated sewage and industrial waste chischarge
(o) loss of forest and decreased rainfall

(d) crappmg of high water demanding crops

Ans : (a) afforestation

Ground water will not be deplated due to afforestation
(ie. plantation of trees)

Which of the following statement(s) is/are correct
abont the renewahle natural resouree”

(u) Tt gets exhansted soon

(b) Tt xequires millions of years to replenish

(¢) It reappears at the rate it i used

(d) It eaunot be veplenished within a short period
Ans : (¢) Tt requires millions of years to replenish
Renewable natural resonrce reappems at the rate it
i used.

Destruction of forest can cause
{a) habitat loss
(b) foods and dronghts
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() soil ercsion and degradation

(d) All of the above

Ans : {d) All of the above

The indiscriminate destruction of forest cover leads
to problems like habitat loss, veological imbalonce
that cnuse floods and dranghts, soil ercsion and
degradation, ete.

Which one of the following i a greenhouse pas?

(a) €O, (b) CO
(<) SO» (d) NO3
Ans : (8) 001

Carbon dioxide is n greenhonse gos lts imcreased
concentration in atmosphere lends to global werming
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‘Normada Bacho Andolan’ has been organized nuder
the leadexship of

(a) Ravi Shankar Maharaj (b) Medhn Patekar

(¢) Amrita Devi Bishnoi  (d) Buba Randey

Ans ; (b) Medha Patckar

‘Narmada Bacho Andolan’ has been argamsed under
the leadership of Medha Patekar.

Which is preserved in National Park?
(a) Flora (b) Fauna
(c) Both (a) and (b) (d) Noue of these

Ans : (¢) Both (a) and (b)

Opposition Lo the construction of large dmns is due to
{u) social reasons (b) cvonumic ressons

(¢) environmental reasons  (d) All of the above

Ans : (d) All of the above
(mwtmmmdmmw local
people is due to social, econcmic and environmental
problems.
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Which of the Pllowmg causes mnbslunce m the
environment?

(n) Excess growmg of green plants

(b) Using more renewable resomees

(c) Biodiversity

(d) Incressing lmman population

Auns ; (d) Increasing buman population

Increasing hnman population canses inhalance in the
environment with excess growmg of green plants,
afforestation and biodiversity canses balance in the
envitonment.

Marked climatic vanations take place in the:
(n) troposphere (b} stratosphere
(c) ionosphere (d) exosphere
Ans : (a) troposphere

Which one of the following s not a fossil fuel?
(n) uraninm (b) coal
(c) natnral gas (d) petrolenm

Ans : (a) manmm

Genetie diversity i agneultursl crops is threatened
by

(») mtroduction of high vielding vareties

(h) mtensive use of fertilizens

() extensive mtercropping

(d) imbalance in biological diversity

Ans : (a) Introduction of high yieldmg varieties

Overuse of resources leads vo:
(a) floods and droughts (h) energy crisis
(¢) imbalance in biological diversity (d) all the above

Aus : (d) all the above

If the Bengal tiger becomes extinet:
(a) Hyenas and volves will become scarce

(b) The wild area will be safe for man and domestic
- ¢

(¢) 1ty gene poal will be lost for ever

(d) The population of beautiful animals like deers will
be stabilized

Ans : (¢) Its gene pool will be last for ever

Sail ercsion can be provented by

(a) deforestation {b) afforestation

(c) overgrazing {d) removal of vegetation
Ans : (b) afforestation

The tice e neilizes:

(a) geothermal energy (b) solar energy

(¢) tidal energy (d) atomic encrgy

Ans : {b) salar energy

Plants and animals are known as:
(a) botic resources (b) abiotic resources
(¢) Muachines (d) None of these

25

Ans : (8) biolic resourecs

Which of the following ammal has become almost
extinot in India?

(a) Wolf {b) Rhinowerus

() Ihippopotamus (d) Chectah

Auns : (d) Cheetah

Which of the following movements means “Hug the
trees movement” 7

(a) Narmads Bachao Andolan

(b) Chipko Andalan

(¢) Tehn Andolan

(d) Biodiversity movernent

Aus : (b) Chipko Andolan

The Chipko Andolan means Hug the Trees mavernent
was the result of a grass roor level effort o end the
alienation of people fiom their forests.

Domestic cooking gas cvlinder is Glled with:
(a) Aleohol (b) Diesel cil
(¢) Liquid petroleum gas  (d) Coal gas
Ans : (¢} Liquid petrolenm gas

Complete the following by choosing the correct
option. In 1972, the West Bengal Forest Department
recognised its failures in reviving the degraded .
foreste in the South- Western districts of the state

(n) Teak (h) Bamboo
(c) Sal (d) Rosewood
Ans : (¢) Sal

In 1972, the West Bengal Forest department recognised
ity fmhures the degrnded sol forests in South Western
districts of the state.

Maxirnm air which we bresthe is present at:
(a) Tropesphere (b) Stratosphore
(¢) lonosphere (d) Mescsphere
Ans : (o) Troposphere

Which of the following i a free living nitrogen fixing
bacteria present in soil?

(n) Azotobscter (b) Nitrosomonas
(¢) Rhizobiun (d) Pseudomonas
Ans @ (a) Azotobacter

Nitrogen fixation 1

(a) Nitrogen —— Ammonia

(h) Nitrogen ——* Nitrates

{¢) Nitrogen —— Amino acid
() Both {a) and (h)
Ans @ (d) Both (a) and (b)

A renewnble source of energy i

{a) Petraleumn (b) Coal
(¢} Nuclear fuel (d) Trees
Ans : (d) Trees
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28. Decrease in species diversity in tropical countoes is

(a) Urbun‘su.mn (b) Pollution
{c) Deforestation (d) Soil ervsion
Ans : (c) Deforestation

29, Wildlife conservation means the protection and
preservation of
(a) Ferocions wild animals only
(b) Wild plants only
(c) Non-cultivated plants and  non-domesticated
sunrmals
(d) ATl the nbove Eving in natural habitat
Ans : (d) All the above living in natural habitat

30. Which of the following is not done m & wildlife
sanctuary?
(a) Fauna is conserved (b) Floya s conserved
(¢) Soil and Nora s utilisad {d) Hunting is prohibited

Ans ¢ (o) Soil and flora is utihsed

3. Which one of the following i & non-replenishable
resource”?
(n) minerals (b) forests
(¢) mineral fuel (d) hydioelectnicity
Ans : (¢) mmeral fuel

DIRECTION : Complete the following statements with an
appropriate word/ term to be filled i the blank space(s).

1 sacrified her life along with 368 others for
protection of ‘Khejri’ trees
Ans : Amrita Devi Bishnoi

2 An Araban forest vange of Midunapore ( West Bengal), .
n forest officer ... rejuventated badly damaged sal
forest

Ans : A K Banerjee

3. The presence of coliform bacterin  bevond the
prescribed limit indicates . by disease consing
TCTO- GE SIS
Ans : contaamination

4 Manogement of forest pmowces has to take into
account the mterests of various <

Ans : stakeholders

§. Water and forest. are the two kinds of . . resources.
Ans : Natural

B. Forests, pastures wildlife and aquatic life constitute

Downlond o0 =50 ~Sasngade DPapar {rom

10

16.

18.

18

Solar energy 15 8 ... Tesource.
Ans : renewnble

In Rajasthan, conservation of forest and wildlife has
been a religions act for . community
Anz : Bishnoi

We can reduce pressave on the envirompent by
smeerely applying the maxim of . . in onr lives
Ans : ‘Reduce, Reuse and Recyele’

The five R's W0 save enviramment are .
and

Ans : Reduce Rense Repurpose, Revvele, Renew

Plants mamufacture their food by using . energy.
Ans : solar

Ans : atomic

Envirenmental problems arise mainly due to cof

naturnl resources.
Ans : over exploitation

The hormesmg of water resources by building dams
has social, econcinic and . noplications.

Ans : environmental
Planting of trees in rows along with crop is called
Ans : Agroforestry

Planting of trees by road side and in availahle space of
colonies by people is known as . |
Ans : social forestry

Natural resources can be of two types .. ... snd
Ans : renewable, non-renewable

The various kinds of spacies of organisms and their
range found in w particular area is called .
Ans : biodiversity

All noturally occuring snimals, plants and other forms
of life in the forest are collectively called

Ans @ wildlife

..... is the major sonree of fresh water and this water
1= neither used by animals nor exposed to evaparation
Ans : underground water

Forests, mangroves amd wildlife are our sonrce.
Ans : renewable

Minerals, metal ores and natural gas ave onr
SOUrce

Ans : Non-renewable
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Management of Natural Resources

The use of components of hiological diversity in a
way that does not disturhs the natural functioning of
ecological processes is called . .

Ans : snstamnable development

The aim of the Ganga Action Plan is to install ...
for 27 cities at the bank of the river

Ans @ sewage trestment plants

Scrape and old used metals can be yemelted and
. for nseful purposes.

Ans : recyeled

A layer of ... ... present about 25 kmn fiom earth’s

surface absorbs a great deal of meoming . rays

of the sunlight

Ans : ozono, nltraviolet

. .. also known ax the breath of hfe. i essemtial for
the chemical processes that sustain Jife,

Ans : oxygen

Resources which are mexhsusitble are called =
and the resources which once nsed are lost forever, are
known as ...

Ans ; renewshle resonrees, non-renewable

The uppenuost layer of the land forms
Auns : sail

, Domestie and municipal waste water can be used for

Ans @ brigation

and . . of water refers to management of
water resources to sustainable benehit to the present
generation while maintaimng
Ans : conversation preservation

. Domns are large or small stracture which stop the

natural flow of water for the purpose of ... ..
generation and

Ans : electricity, irrigation

......... gas causes green house effect that mestly
increases due to use of fossil fuels

Anz : carbon-di-oxide

ie the best method for conservation of
environment

Ans : Reuse

Forests wre ... hot spota.
Ans ¢ biodivemsity

38.

B e

Khadin is an example of traditional
Aus : Water harvesting

In blood carbon monoxide forms .. .. .. that s unable
to transport oxyvgen
Ans : Carbaxyhaemoglobin

Glaciers ave asource of .

Ans @ water

Our resources like forests, wildlife. water, coal and
petroleum need o be wsed mow maner.

Ans @ sustammahble

........ are termed as biodiversity hotspots.
Ans : forests

.......... 1= remembered for protection of Khejri trees in
Rajasthan
Ans : Anwrita Devi Bishnoi

To save energy and prevent wourming. [ nse .
instend of imcandescent bulbs.
Ans : CFL

......... = n blanket, aronnd the earth, that protects it
from scorchmg during the day and freezing dunng the
mght.

Ans @ atnwsphere

DIRECTION : Read the following statements and write your
answer as true of false.

i

Check dams are buikd along seasonal flooded gullies
for water harvesting
Ans : True

Coual wnd petroleum are non-renewable inexhaustible
resonree

Ans : False

An important protective function of forests is reduction
of atmospheric pollution
Ans : False

Forest depattinent hes  been able to  maimtain
biodiversity by growing Pine, Teak and Euncalyptus
on large tracts.

Ans : False

Electricity is a natursl yesource.

Ans : True

The most rapidly dwindhing natural resource in the
world is forests

Ans : Tine
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A natural resource i a substance/commeodity that is a
gift of nature which is very useful to mankind
Ans : True

Biodiversity means variations present in the species of
the flors of an area.
Ans @ False

The fossil fuels, coal and petralenm, will ultimately
be exhaustod

Ans : True

Alternatives to large dams does not exist.
Aus : False

Coliform bacteria canse many disenses
Ans : True

Combustion of fossil fuels pollutes our environment.
Ans : True

Ozone layer is being depleted by excess carben dioxide
Ans : Fulse

Forests sre veservoirs of wildlife
Ans : True

Water horvesting method increases groundwater lavel
Ans : Tiue

Chipko Andolan originated in Haridwar during 1980s
Ans : False

Deforestation replenishes forests
Ans : False

The three R's referred to conserve natural resonrces
are - recycle, regenerate and reuse,
Ans : False

Sustainabie developuent means planned growth with
mintmom damage to the environment.
Ans : True

When a single species of plant is enltivated in an wea,
it promotes monoculture

Ans : True

Dams prevent water logeing
Ans : True

Improper use of land converts fertile land into nmsable
Tand.
Ans : True

Geo-thermal energy is u conventional source of encrey.
Ans : False

The wildlife resonrces are renewable resources
Ans : Tiue

Forest and wildlife are conserved to continne food
chain

Ans : False

Successful forest conservation strutegy should mvolve
protection of anly consnmers
Auns : False

Sustainable development does not consider the view
points of stakeholders

Ans @ False

Forests provide variety of products.
Ans : True

Khodins, Abars sod Kattes aic sncient structures
that are example of of water harvesting

Aus : True

Solid waste serve as mseful resource for providing
energy for our industries.

Ans : True

Manitoring of resource utilisation i best done through
remote sensing.
Ans : Te

. Use of sewage. damestic waste fann yard manure, ste

will decrease the fertility of the degraded lands.
Ans ¢ False

An environmentally Fiendly decision is reuse Jam and
pickle bottles.
Ans : True

Increase in human population puts more pressure on

DIRECTION : Each question contains statements given in
two columns which have to be matched Statements (A, B, C,
D) m column-I have to be matched with statements (p. q. r, )

in colunn [T
1
Colwonn 1 Colwnn 11
(A) | Kulhs (p) | Karnataks
(B) | Kattas {q) | Maharashtia
(C) | Tals tr) | Rajasthan
(D) | Khadin () | Himachal Pradesh
Ans: As B-p, Cq, D-r
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Colunm 1 Colwn 11
(A) | Wallvar (p) | Orisa
(B) | Chilka (q) | Rajasthan
() | Sambhar (r) | Jarmmu and
Kashmir
(1) | Harike (s) | Punjab
Ans : A1, B-p, Cq, D-s
3.
Colim I Colunm IT
(A) | Desertification (p) | Amnta Devi
Bishno
(B) | Khejn (q) | Incomplete combms-
tion
(C) | Khadin (r) | Deforestation
(D) | Carbon monoxide | (5) | Water harvesting |
Ans : Ar, Bp, Cs, Dg
q
Colwm 1 Colwnn 11
(A) | Ganga Sagar (p) | Forests
(B) | Coliform Bactenia | (q) | Amrita Davi
(C) | Plastic (1} | Chipko Andolan
(D) | Biodiversity hot (s) |A K Banerjee
spots
(E) | Protection of (t) | Bay of Bengal
IKhejri trees

(F) | Ahsis and Pmes (u) Ganga water

(G) | Protection of sal (v) | Recyele
forest

(H) | Hug the tiees {vi) | Bihar
moverent

Ang : A-t, B-u, C-v, D-p. I=q, F-w. G-s, H-r

DIRECTION : In the following questions, a statement of
assertion (A) is followed by a statement of reason (R). Mark
the carrect choice as:

(s) Both assertion (A) and reason (R) are true and
reason (R) is the correct explanation of sssertion
(A).

(b) Both sssertion (A) and veason (R) are true but
reason (R) is not the comect explinstion of
assertion (A)

(c) Assertion (A) is true but reason {R] is false

(d) Asscrtion (A) 1s false but reason (R) is true.

(e) Both Assertion and Reason are false.

1 Assertion : Conservation of biological diversity under
Download all (YN an 7 Sponds Paner s

1

natural conditions i in sitn conservation.

Reason : Increase of Manipur deer from 17 aniinals to
150 in Caleutta and Delhi zones is one of an exsmple
of these

Anx : (o) Assertion (A) is true but reason (R) is false

Assertion : Inexhaustible natural resoutces are present
in limited amount in nature.

Reason : Inexhanstible natural resources arve nom-
renewable and non-replenish able.

Auns : (¢) Both Assertion and Resson are false

Inexhaustible natural resowrces are  present m
umlumited quantity m the nature and they are nat
likely to be exhausted by homan activities. These
resources are renewsble and thus replenish able.

Assertion : Coal is a combustible organic fucl
Reason : It occurs mside the voleanoes.

Ans : (¢) Assertion (A) 15 true but reason (R) is false.

Coal is n combustible orgamic fuel that acems inside
the carth.

Assertion : Conswmption of coal and petrolenm can
be rednced by many ways

Reason : One of them is to switch off the lights, fans,
ete

Ans : (a) Both assertion (A) and reason (R) are true
and resson (R) is the correct explanation of assertion
(A)

Consumption of coal and petroleum can be reduced
by many ways. One of them is to switch off the lights,
fans, television, etc.

Assertion : Water is a valnable resource.

Reason : Tuin off the tups when not in nse.

Ans: (b) Both sssertion {A) and reason (R) are
true but reason (R) i not the correct explanation of
assertion (A).

Water 15 a valuable resource. Sa, we need to conserve
it by turning off the taps when not i use,

Assertion : Conl and petroloum are categorised as
natural resources, so should be used judiciously.
Reason : They are formed fram the degradation of
bio-mass subjected to variows biological and geological
processes over a million of vears. v

Auns : () Both assertion (A) and reason (R) are rrue
and reason (R) s the correct explunntion of assertion
(A)

Coal and petrolenm we formed from the degradation
of bio-mass subjected 1o various biological and
geological processes over a million of yvears. Thus,
cannot. be manufactured by humans Therefore, conl
and petroleum e categorised as natural resource

Assertion : Water harvesting is the method to capture
every tockle of water that falls on the land.

Reason : Warer harvesting recharges wells and gronnd
waler,

Ans : (b) Both sssertion (A) and reason (R) wre
tme but reason (R) is not the corvect explanation of
nssertion (A)
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Water harvesting s a leclmique of capturing ram
water when it falls and taking mensure (o keep the
water clean. It rechurges wells/sround water and
provides moisture for vegetation over o wide area,

Assertion : Ethnography is iroportant fur ecologist
and genetists.

Reason ¢ It helps in deahng with distribntion of
chifferent races of mankind and eugenics.

Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) 15 the conect explanation of assertion
(A).

Assertion : We need to conserve natural resources.
Reason : Natnral tesources are hmited.

Ans : (a) Both sssertion (A) and reason (R) are true
and reason (H) ie the correct explanation of assertion
(A)

We need to manage natwval rvesources hevause
natursl reouwrces mre lomted. Human population is
increasing at a tremendous rate and utilization of
nutural resources = Increasing at an exponential vate
Therefore, we need to conserve resomrces for future
genctations.

Assertion : Rense is batter than recvele

Reason : Recyele prevents environmental pollution
Ans : (¢) Assertion (A) 15 tme but reason (R) is false.
Reuse is better than recyele becanse it saves energy by
using material agnin withont any changes and also, it
prevenis environmental pollution.

Asgertion : The developrent which can be mamtamed
for a long time without can be mamtained for o long
time withont undue dmnage to the envionment s
called sustainable development

Reasan : It provide the economic well being to the
present and future generation

Ans : (b) Both assertion (A) and resson (R) are
true but reason (R) is not the conect explanation of
assertion (A)

Sustamable development is the development which can
be maintamed for s long tine without undue damage
1o the environment It has two main objectives To
provide economic well beng W the present and future
generation and to maintain a healthy environment
und life support system.

Assertion : Deforestation shonld be stopped or redneed
to minimum

Reaszon : Afforestation damages the top soil and lead
to desertification.

Ans ; () Asscrtion (A) 1s true but reason (R) is false.

Assertion : Dams cause discontentment among people.
Reason : Loeal people are alienated from their Tand
without adequate compensation

Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of assertion
(A)

Assertion : The gases released by burning of coal and

qeiis P

L

petrolenn are posonous.

Reason : The wades of sulphur, nitrogen and carbon
monoxide ave posonons at high concentiations,

Ans : (a) Both assertion (A) snd renson (R) are true
and yenson (R) 15 the correct explanation of assertion
(A)

The gases released by bumning of coal and petroleuin
(oxides of sulphur, nityogen and carbon monoxide) are
posonons st high concentrations.

Assertion : Forest cover balances the temperature
level of the wes

Reason : Forests veduce atmospheric pollution by
absarbing carbon dioxide from the atmosphere.
Ans : (b) Both wsssertion (A) and reason (R) are
trne but reason (R) is not the correct explunustion of
nssertion (A)

Assertion : Coliformm is a group of bactevia found in
human storanch.

Reason : Presence of coliform in water indicates
comtamination by disense cansimg nicyoorganising,
Ans : (d) Assertion (A) is false but reason (R) 15 true.
Coliform s o group of bacteria found in human intestine
whose presence in water indicates contmmmation by
disease causing micTo-organisms

Assertion : Chipke Andolan was done by women of
Rem village.

Reason : Chipka Andolan was done to protect wild
Tife

Ans ¢ (¢) Assertion (A) is true but reason (R) is false

Chipko movement was started in early 1970s in villoge
i Garhwal by the women of Uttarukhand to stop
cutting of forest trees of their aren

Assertion : Regions in Cangetic pluins are very fertle.
Reason : [t has mainly alluvial soils

Ans : (a) Both assertion (A) and reason (R) are true
i reason (R) 15 the correct explanation of assertion
(A).

Assertion : Wildlife should be conserved.

Reason : Human activities canse several plants and
aninals to extinet

Ans : (a) Both assertion (A) and renson (R) are true
and reuson (R) 15 the corvect explanation of assertion
(&)

Wild hife 15 found in forests. Over a period of time,
wildlife has become extinet becnuse of certan human
activities like deforestation, hunting, poaching ete.

Assertion : The flora of tundr consists of lichens,
mosses and conifers.

Reason : Temperatnre and water supply to plants sre
the himting factors.

Aus : (a) Both assertion (A) and reason (R) are trme
nnd reason (R) is the correct explunstion of sssertion
(A)

2. Assertion : An estimation of BOD gives an indication
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